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N.B. :— (i) Question No. 1 is compulsory.
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Attempt any 4 questions (from Q. No. 2 to Q. No. 7).

Use of simple calculator is allowed.

YT w1 3fEE eTR.

HIVAE 4 YT dredr (I3 HHE 2 9 YT HHE 7).

AT USRI a9 QA 3TTS.

1. Given : ri9 = 0.8, rig3 = r9g = 0.5. 20
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ﬁﬁé 32”% M r12 = 0.8, 7‘13 = r23 = 0.5.
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Two treatments A and B were tried to control a disease. The following results

were obtained : 15
A : 400 patients examined : 80 found infected
B : 400 patients examined : 70 found infected

Can it be concluded that treatment B is superior to A ?

(V =1, X505 = 3'84)

TR T FEEOTEESt A S B A S WehRY SUER TUAT STel. Weliel fseR
et .

A : 400 U qUEA : 80 S eEosed

B : 400 ¥ qUEA : 70 S @A

STIR B T ITER A Ua Ot AR W Wil A w7

(V =1, %505 = 3'84)
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Calculate Yule’s co-efficient of Association from the following data :

AB =40, A =80, B =60, N = 200. 15

Eeiiel S2eaed Joi=al Hgarl U=l AT &
AB =40, A =80, B =60, N = 200.

Given the following information, determine the regression equation of

Xy on X, and Xg : 15
r12 = 08 7‘13 = 0.6 r23 = 05

~

Tl feotean wifgdiee X, = X, 30 Xge ok giaqmes o0 w@

r12 = 0.8 7'13 = 0.6 7'23 = 0.5
Q1= 10 Q2=8 Q3=5

From a population of college students, 10 students were randomly selected.

Their weekly pocket money was observed as : 15
Students No. Pocket Money )
1 200
2 220
3 210
4 150
5 250
6 190
P.T.O.
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Test whether the sample supports that on an average the students get T 250

as pocket money. (For v = 9, ¢, o5 = 2.262).

el faeneatient 10 foeneat=h agfeawmun fTae Sefl Tel. == Aeasar=

Pocket money @IciiaiyH 0l il :

Students No. Pocket Money ()
1 200
2 220
3 210
4 150
5 250
6 190
7 180
8 200
9 210
10 220

foeneaf=l Pocket money TUEd T 250 39S HT T SRISGECEE

(FOI' UV = 9, t005 = 2262)
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The following data presents the yields in quintals of common ten agricaltural

lands : 15
Plot 1 Plot 2
124 112
114 118
130 112
120 114
126 116
116 120
114 110
120 114
120 114
116 110

Test whether two samples taken from two random population have the same

variance.
(5% point of V; = 9 and Vo = 9 is 3.18, F(, o5 = 3.18)

B I SEATdE Sl foed 18 Hed et faelt TR

Plot 1 Plot 2
124 112
114 118
130 112
120 114

P.T.O.
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S AgIsh ARHEIHYT Hadedl M W =T SR ST O O

(6% point of V; = 9 and Vy = 9 is 3.18, Fj 35 = 3.18)

The number of cars exported from India during 2015 to 2022 are given below.

Fit a straight line trend to the data. Estimate the export for the year 2025 : 15

Year No. of units (°000)
2015 12
2016 13
2017 13
2018 16
2019 19
2020 23
2021 21
2022 23
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(o N0

T8 2015 1 2022 HY YRARA A Seiedn ! &A1 Biell feall 31e. feeredn Afedien
q

Straight Line trend @@l T@= 2025 AY fohal &R F&d @ o el :
Year No. of units (°000)
2015 12
2016 13
2017 13
2018 16
2019 19
2020 23
2021 21
2022 23
LV—26—2022 7
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